

Properties of some difference polynomials

By Yong LIU^{*,**}) and Hong-Xun YI^{***})

(Communicated by Masaki KASHIWARA, M.J.A., Jan. 15, 2013)

Abstract: In this article, we investigate some properties of some difference polynomials. The results in this article improve some theorems of Liu and Laine. Several examples are provided to show that our results are best possible.

Key words: Meromorphic functions; difference equations; value distribution; finite order.

1. Introduction and results. In this paper, we assume that the reader is familiar with the fundamental results and the standard notations of the Nevanlinna theory (see, e.g., [12,16]). In addition, we will use the notation $\sigma(f)$ to denote the order of the meromorphic function $f(z)$, and $\lambda(f)$ and $\lambda(\frac{1}{f})$ to denote the exponent of convergence of zeros and poles of $f(z)$, respectively.

Hayman [11] proved two classical theorems which can be combined as follows:

Theorem A [11]. *Let $f(z)$ be a transcendental meromorphic function and $a \neq 0, b$ be finite complex constants. Then $f^n(z) + af'(z) - b$ has infinitely many zeros for $n \geq 5$. If $f(z)$ is transcendental entire, this holds for $n \geq 3$, resp. $n \geq 2$, if $b = 0$.*

Recently, a number of papers (see, e.g., [1–3,5–10,13–15]) have focused on complex difference equations and difference analogues of Nevanlinna's theory.

Liu and Laine [15] established partial difference counterparts of Theorem A, and obtained the following

Theorem B [15]. *Let $f(z)$ be a transcendental entire function of finite order, not of period c , and let $s(z)$ be a nonzero function, small compared to f . Then $f^n(z) + f(z+c) - f(z) - s(z)$ has infinitely many zeros, provided $n \geq 3$, resp. $n \geq 2$, if $s = 0$.*

In this paper, we consider the zeros of the difference polynomial

$$F_n(z) = \sum_{j=1}^k a_j(z)f(z+c_j) - a(z)f^n(z),$$

and obtain the following results which generalize Theorem B. In Theorems 1.1 and 1.5, we consider the case when the coefficients of $F_n(z)$ are constants.

Theorem 1.1. *Let $f(z)$ be a transcendental entire function of finite order $\rho(f)$, let $b, a, c_j, a_j (j = 1, 2, \dots, k)$ be complex constants. Set $F_n(z) = \sum_{j=1}^k a_j f(z+c_j) - af^n(z)$, where $n \geq 3$ is an integer. Then $F_n(z)$ have infinitely many zeros and $\lambda(F_n(z) - b) = \rho(f)$ provided that $\sum_{j=1}^k a_j(z)f(z+c_j) \neq b$.*

In the previous theorem, we consider difference polynomial $F_n(z)$ with $n \geq 3$. The following theorem is about the case $n = 2$:

Theorem 1.2. *Suppose that $f(z)$ be a finite order transcendental entire function with a Borel exceptional value d . Let $b(z), a(z) (\neq 0), a_j(z) (j = 1, 2, \dots, k)$ be polynomials, and let $c_j (j = 1, 2, \dots, k)$ be complex constants. If either $d = 0$ and $\sum_{j=1}^k a_j(z)f(z+c_j) \neq 0$, or, $d \neq 0$ and $\sum_{j=1}^k da_j(z) - d^2a(z) - b(z) \neq 0$, then $F_2(z) - b(z) = \sum_{j=1}^k a_j(z)f(z+c_j) - a(z)f^2(z) - b(z)$ has infinitely many zeros and $\lambda(F_2(z) - b(z)) = \rho(f)$.*

Example 1.3. For $f(z) = \exp\{z\} + z, a(z) = 4, c_1 = 3\pi i, c_2 = \pi i, c_3 = 0, c_4 = 5\pi i, c_5 = 7\pi i, a_1(z) = z, a_2(z) = -3z, a_3(z) = 6z, a_4(z) = -1, a_5(z) = 1, a_6(z) = \dots = a_k(z) = 0, b(z) = 2\pi i$, we have $F_2(z) - b(z) = \sum_{j=1}^k a_j(z)f(z+c_j) - a(z)f^2(z) - b(z) = -4\exp\{2z\}$. Here $f(z)$ has no Borel exceptional values, but $F_2(z) - b(z)$ has no zeros. Hence the condition that $f(z)$ has a Borel exceptional value cannot be omitted in Theorem 1.2.

Example 1.4. For $f(z) = \exp\{z\} + 1, a = 2, c_1 = \ln 2, c_2 = \ln 4, c_3 = \ln 3, a_1 = 3, a_2 = 1, a_3 = -2,$

2010 Mathematics Subject Classification. Primary 30D35, 39B12.

^{*}) Department of Mathematics, Shaoxing College of Arts and Sciences, Shaoxing, Zhejiang 312000, People's Republic of China.

^{**}) Department of Physics and Mathematics, Joensuu Campus, University of Eastern Finland, P. O. Box 111, Joensuu FI-80101, Finland.

^{***}) Department of Mathematics, Shandong University, Jinan, Shandong 250100, People's Republic of China.

$a_4 = \dots = a_k = 0$, we have $F_2(z) = \sum_{j=1}^k a_j f(z + c_j) - a f^2(z) = -2 \exp\{2z\}$. Here $F_2(z)$ has no zero, but $f(z)F_2(z) = -2 \exp\{2z\}(\exp\{z\} + 1)$ has infinitely many zeros. This shows that $f(z)F_2(z)$ is different from $F_2(z)$.

What can we say about $f(z)F_2(z)$ when $f(z)$ has infinitely many multi-order zeros. For this question, we obtain the following Theorem 1.5:

Theorem 1.5. *Let $f(z)$ be a finite order transcendental entire function, and let $b, a, a_j, c_j (j = 1, 2, \dots, k)$ be complex constants. If $f(z)$ has infinitely many multi-order zeros, then $H(z) = f(z)(\sum_{i=1}^k a_i f(z + c_i) - a f^2(z)) - b$ has infinitely many zeros.*

Example 1.6. For $f(z) = \exp\{\exp\{z\}\}$, $c_1 = \ln 3$, $c_2 = \ln 3$, $c_3 = 0$, $a = 2$, $a_1 = 1$, $a_2 = 1$, $a_3 = 2$, $a_4 = \dots = a_k = 0$, we obtain

$$F_3(z) = \sum_{j=1}^3 a_j f(z + c_j) - a f^3(z) = 2 \exp\{\exp\{z\}\}.$$

Here $F_3(z) \neq 0$. This shows that Theorem 1.1 may fail for entire functions of infinite order.

Example 1.7. For $f(z) = \exp\{z\} + 2$, $a = 2$, $c_1 = \ln 3$, $c_2 = \ln 4$, $a_1 = 1$, $a_2 = 1$, $a_3 = -1$, $a_4 = \dots = a_k = 0$, we have $F_2(z) = \sum_{j=1}^k a_j f(z + c_j) - a f^2(z) = -2 \exp\{2z\} - 6$. Here $F_2(z) \neq -6$. This shows that Theorem 1.1 may be fail for $n = 2$ and that the condition $n \geq 3$ in Theorem 1.1 is the best possible.

Example 1.8. For $f(z) = \exp\{z\} + 1$, $a = 1$, $a_1 = 2$, $a_2 = 3$, $a_3 = -4$, $a_4 = \dots = a_k = 0$, $b = 0$, $c_1 = \ln 4$, $c_2 = \ln 3$, $c_3 = \ln 2$, we have $F_2(z) = \exp\{z\}(7 - \exp\{z\})$, which assume all finite values infinitely often.

2. Preliminary lemmas. In order to prove our theorems, we need the following lemmas.

The following lemma is a generalisation of Borel's Theorem on linear combinations of entire functions.

Lemma 2.1 [16, pp. 79–80]. *Let $f_j(z) (j = 1, 2, \dots, n) (n \geq 2)$ be meromorphic function, $g_j(z) (j = 1, 2, \dots, n)$ be entire functions, and let them satisfy*

- (i) $f_1(z)e^{g_1(z)} + \dots + f_k(z)e^{g_k(z)} \equiv 0$;
- (ii) when $1 \leq j < k \leq n$, then $g_j(z) - g_k(z)$ is not a constant.
- (iii) when $1 \leq j \leq n$, $1 \leq h < k \leq n$, then

$$T(r, f_j) = o\{T(r, e^{g_h - g_k})\} \quad (r \rightarrow \infty, r \notin E),$$

where $E \subset (1, \infty)$ is of finite linear measure or finite logarithmic measure. Then $f_j \equiv 0 (j = 1, \dots, n)$.

Let $c_j, j = 1, \dots, n$, be a finite collection of complex numbers. Then a difference polynomial in $f(z)$ is a function which is polynomial in $f(z + c_j), j = 1, \dots, n$, with meromorphic coefficients $a_\lambda(z)$ such that $T(r, a_\lambda) = S(r, f)$ for all λ . As for difference counterparts of the Clunie lemma [4], see [8, Corollary 3.3]. The following lemma due to Laine and Yang [14] is a more general version.

Lemma 2.2 [14]. *Let f be a transcendental meromorphic solution of finite order of a difference equation of the form*

$$(2.1) \quad U(z, f)P(z, f) = Q(z, f),$$

where $U(z, f), P(z, f)$, and $Q(z, f)$ are difference polynomials such that the total degree $\deg U(z, f) = n$ in $f(z)$ and its shifts, and $\deg Q(z, f) \leq n$. Moreover, we assume that $U(z, f)$ contains just one term of maximal total degree in $f(z)$ and its shifts. Then

$$m(r, P(z, f)) = S(r, f).$$

The following lemma is a difference analogue of the logarithmic derivative lemma.

Lemma 2.3 [8, 10]. *Let $f(z)$ be a meromorphic function of finite order and let c be a non-zero complex number. Then we have*

$$m\left(r, \frac{f(z+c)}{f(z)}\right) = S(r, f).$$

3. Proof of Theorem 1.1. The main idea of this proof is from [15, case $n \geq 3$], while the details are somewhat different. For the convenience of the reader, we give a complete proof. Firstly, we prove that $\rho(F_n - b) = \rho(f)$. Lemma 2.3 and $F_n(z) = \sum_{j=1}^k a_j f(z + c_j) - a f^n(z)$ yield that

$$\begin{aligned} (3.1) \quad nT(r, f(z)) &= T(r, a f^n(z)) + O(1) \\ &= T\left(r, \sum_{j=1}^n a_j f(z + c_j) - F_n(z)\right) + O(1) \\ &\leq m\left(r, f(z) \frac{\sum_{i=1}^k a_i f(z + c_i)}{f(z)}\right) \\ &\quad + m(r, F_n(z)) + O(1) \\ &\leq m(r, f(z)) + \sum_{j=1}^k a_j m\left(r, \frac{f(z + c_j)}{f(z)}\right) \\ &\quad + m(r, F_n(z)) + O(1) \\ &= m(r, f(z)) + m(r, F_n(z)) + S(r, f) \\ &= T(r, f(z)) + T(r, F_n(z)) + S(r, f). \end{aligned}$$

On the other hand, from Lemma 2.3 and $F_n(z) = \sum_{j=1}^k a_j f(z + c_j) - a f^n(z)$, we have

$$(3.2) \quad \begin{aligned} T(r, F_n(z)) &= m(r, F_n(z)) \\ &= m\left(r, \sum_{j=1}^k a_j f(z + c_j) - a f^n(z)\right) \\ &\leq m(r, f(z)) + \sum_{j=1}^k a_j m\left(r, \frac{f(z + c_j)}{f(z)}\right) \\ &\quad + m(r, a f^n(z)) + O(1) \\ &= (n+1)T(r, f(z)) + S(r, f). \end{aligned}$$

(3.1) and (3.2) imply that $\rho(f) = \rho(F_n)$. Hence $\rho(F_n - b) = \rho(f)$. We next discuss the following two cases:

Case 1. $\rho(f) = 0$. By $0 \leq \lambda(F_n - b) \leq \rho(F_n - b) = \rho(f) = 0$, we have $\lambda(F_n - b) = \rho(f)$. Theorem 1.1 thus holds.

Case 2. $\rho(f) > 0$. Suppose, contrary to the assertion, that $\lambda(F_n - b) < \rho(f)$. By this and $\rho(F_n - b) = \rho(f)$, we can rewritten $F_n(z) - b$ as

$$(3.3) \quad \begin{aligned} F_n(z) - b &= \sum_{j=1}^k a_j f(z + c_j) - a f^n(z) - b \\ &= p(z) \exp\{q(z)\}, \end{aligned}$$

where $q(z) \not\equiv 0$ is a polynomial, $p(z)$ is an entire function with $\rho(p) < \rho(f)$. Differentiating (3.3) and eliminating $\exp\{q(z)\}$, we obtain

$$(3.4) \quad \begin{aligned} f^{(n-1)}(z)(anp(z)f'(z) - a(p'(z) + q'(z)p(z))f(z)) \\ = p(z) \sum_{j=1}^k a_j f'(z + c_j) + b(p'(z) + p(z)q'(z)) \\ - \{p'(z) + p(z)q'(z)\} \sum_{i=1}^k a_i f(z + c_i). \end{aligned}$$

Suppose that

$$(3.5) \quad anp(z)f'(z) - a(p'(z) + q'(z)p(z))f(z) \equiv 0.$$

Integrating (3.5), we have

$$(3.6) \quad f^n(z) = dp(z) \exp\{q(z)\},$$

where d is a nonzero constant. Hence (3.3) and (3.6) yield that

$$(3.7) \quad \begin{aligned} F_n(z) - b &= \sum_{j=1}^k a_j f(z + c_j) - a f^n(z) - b \\ &= \frac{1}{d} f^n(z), \end{aligned}$$

that is

$$(3.8) \quad d \left(\sum_{j=1}^k a_j f(z + c_j) - b \right) = (ad + 1) f^n(z).$$

Since $\sum_{j=1}^k a_j f(z + c_j) \not\equiv b$, we have $ad + 1 \neq 0$. Differentiating (3.8), we have

$$(3.9) \quad d \left(\sum_{j=1}^k \frac{a_j f'(z + c_j)}{f'(z)} \right) = n(ad + 1) f^{n-1}(z).$$

By using Lemma 2.3 we obtain from (3.9) that

$$(n-1)T(r, f) = (n-1)m(r, f) = S(r, f') = S(r, f),$$

which is a contradiction, since $n \geq 3$. Therefore $P(z, f) \not\equiv 0$. Since $n \geq 3$, by Lemma 2.2 and (3.4), we obtain that

$$(3.10) \quad \begin{aligned} T(r, anp(z)f'(z) - a(p'(z) + q'(z)p(z))f(z)) \\ = m(r, anp(z)f'(z) \\ - a(p'(z) + q'(z)p(z))f(z)) \\ = S(r, f), \end{aligned}$$

and

$$(3.11) \quad \begin{aligned} T(r, f(z)(anp(z)f'(z) \\ - a(p'(z) + q'(z)p(z))f(z))) \\ = m(r, f(z)(anp(z)f'(z) \\ - a(p'(z) + q'(z)p(z))f(z))) \\ = S(r, f), \end{aligned}$$

for all r outside of an exceptional set of finite logarithmic measure. Thus, by (3.10) and (3.11), we have

$$T(r, f) = S(r, f),$$

for all r outside of an exceptional set of finite logarithmic measure. This is a contradiction. Hence $\lambda(F_n(z) - b) = \rho(f)$. Theorem 1.1 is thus proved.

4. Proof of Theorem 1.2. Suppose that d is the Borel exceptional value of $f(z)$. Then we can write $f(z)$ as

$$(4.1) \quad f(z) = d + g(z) \exp\{\alpha z^k\},$$

where α is a nonzero constant, $k \geq 1$ is an integer, and $g(z)$ is an entire function such that $g(z) \not\equiv 0$, $\rho(g) < k$. By (4.1), we have

$$(4.2) \quad f(z + c_j) = d + g(z + c_j)g_j(z) \exp\{\alpha z^k\}, \\ (j = 1, 2, \dots, k)$$

where $g_j(z) = \exp\{\alpha \binom{k}{1} z^{k-1} c_j + \alpha \binom{k}{2} z^{k-2} c_j^2 + \dots + \alpha c_j^k\}$, $\rho(g_j) = k - 1$. Suppose that $F_2(z) - b(z)$ is a polynomial. Then

$$(4.3) \quad \sum_{j=1}^k a_j(z) f(z + c_j) - a(z) f^2(z) - b(z) = p(z),$$

where $p(z)$ is a polynomial. By Lemma 2.3 and (4.3), we have

$$\begin{aligned} 2T(r, f(z)) &= 2m(r, f(z)) \\ &= m(r, a(z)f^2(z)) + S(r, f) \\ &= m\left(r, \sum_{j=1}^k a_j(z)f(z+c_j) - b(z) - p(z)\right) + S(r, f) \\ &\leq m(r, f(z)) + \sum_{j=1}^k m\left(r, \frac{f(z+c_j)}{f(z)}\right) + m(r, b(z)) \\ &\quad + m(r, p(z)) + \sum_{j=1}^k m(r, a_j(z)) + S(r, f) \\ &= T(r, f(z)) + S(r, f) + O(\log r), \end{aligned}$$

which is a contradiction. Therefore, $F_2(z) - b(z)$ is transcendental. By (4.1) and (4.2), we have

$$\begin{aligned} (4.4) \quad F_2(z) - b(z) &= \left(\sum_{j=1}^k a_j(z)g(z+c_j)g_j(z) - 2da(z)g(z) \right) \\ &\quad \times \exp\{\alpha z^k\} - a(z)g^2(z)\exp\{2\alpha z^k\} \\ &\quad + \sum_{j=1}^k da_j(z) - d^2a(z) - b(z). \end{aligned}$$

Since $g(z) \not\equiv 0$, we have $\rho(F_2(z) - b(z)) = \rho(f) = k$. Next, we prove $\lambda(F_2(z) - b(z)) = k$. Suppose, contrary to the assertion, that $\lambda(F_2(z) - b(z)) < \rho(f)$. Then

$$(4.5) \quad F_2(z) - b(z) = l(z)\exp\{\beta z^k\},$$

where β is a nonzero constant, $l(z)$ is an entire function such that $\rho(l) < k$.

(i) Suppose that $d = 0$. (4.1), (4.2) and (4.5) imply that

$$\begin{aligned} (4.6) \quad \sum_{j=1}^k a_j(z)g(z+c_j)g_j(z)\exp\{\alpha z^k\} \\ - a(z)g^2(z)\exp\{2\alpha z^k\} - b(z) = l(z)\exp\{\beta z^k\}. \end{aligned}$$

Since $g(z) \not\equiv 0$, by comparing the growth of both sides of (4.6), we have $\beta = 2\alpha$. Hence (4.6) can be rewritten as

$$\begin{aligned} (4.7) \quad \sum_{j=1}^k a_j(z)g(z+c_j)g_j(z)\exp\{\alpha z^k\} \\ - (a(z)g^2(z) + l(z))\exp\{2\alpha z^k\} - b(z) = 0. \end{aligned}$$

By Lemma 2.1 and (4.7), we obtain that $\sum_{j=1}^k a_j(z)g(z+c_j)g_j(z) \equiv 0$, a contradiction, since

$\sum_{j=1}^k a_j(z)f(z+c_j) \not\equiv 0$. Hence, we obtain that $\lambda(F_2(z) - b(z)) = k$.

(ii) Suppose that $d \neq 0$. (4.1), (4.2) and (4.5) yield that

$$\begin{aligned} (4.8) \quad \left(\sum_{j=1}^k a_j(z)g(z+c_j)g_j(z) - 2da(z)g(z) \right) \exp\{\alpha z^k\} \\ - a(z)g^2(z)\exp\{2\alpha z^k\} - l(z)\exp\{\beta z^k\} \\ + \sum_{j=1}^k da_j(z) - d^2a(z) - b(z) = 0. \end{aligned}$$

If $\beta \neq \alpha$ and $\beta \neq 2\alpha$, By Lemma 2.1 and (4.8), we get $\sum_{i=1}^k da_j(z) - d^2a(z) - b(z) \equiv 0$, which contradicts our assumption that $\sum_{i=1}^k da_j(z) - d^2a(z) - b(z) \not\equiv 0$.

If $\beta = 2\alpha$ or $\beta = \alpha$, using the same method as above, we also get $\sum_{i=1}^k da_j(z) - d^2a(z) - b(z) \equiv 0$, a contradiction. Hence $\lambda(F_2(z) - b(z)) = k$.

5. Proof of Theorem 1.5. Suppose that $f(z)$ has infinitely many multi-order zeros. If $b = 0$, then $H(z)$ has infinitely many zeros. Next we suppose that $b \neq 0$. If $H(z) - b$ has only finitely many zeros, then we can rewrite $H(z)$ as

$$\begin{aligned} (5.1) \quad H(z) &= f(z) \left(\left(\sum_{i=1}^k a_i f(z+c_i) \right) - af^2(z) \right) - b \\ &= p(z)e^{q(z)}, \end{aligned}$$

where $p(z), q(z)$ are polynomials. Suppose that $H(z)$ is a polynomial. Then

$$\begin{aligned} (5.2) \quad H(z) &= f(z) \left(\left(\sum_{i=1}^k a_i f(z+c_i) \right) - af^2(z) \right) - b \\ &= P(z), \end{aligned}$$

where $P(z)$ is a polynomial. By (5.2), we have

$$\begin{aligned} 3T(r, f(z)) &= 3m(r, f(z)) \\ &= m(r, af^3(z)) + O(1) \\ &\leq m(r, P(z)) + m(r, f^2(z)) \\ &\quad + \sum_{j=1}^k a_j m\left(r, \frac{f(z+c_j)}{f(z)}\right) + O(1) \\ &= 2T(r, f) + S(r, f), \end{aligned}$$

a contradiction. Hence $H(z)$ is transcendental, and so $p(z) \not\equiv 0, \deg q(z) \geq 1$. By this, we have $p'(z) + p(z)q(z) \not\equiv 0$. Differentiating (5.1) and eliminating $e^{q(z)}$, we have

$$(5.3) \quad \frac{3af(z)f'(z)}{\sum_{i=1}^k a_i f(z+c_i)} - \frac{(f(z) \sum_{i=1}^k a_i f(z+c_i))'}{f(z) \sum_{i=1}^k a_i f(z+c_i)}$$

$$= \left(\frac{p'(z) + p(z)q(z)}{p(z)} \right) \left(\frac{af^2(z)}{\sum_{i=1}^k a_i f(z+c_i)} - 1 + \frac{b}{f(z) \sum_{i=1}^k a_i f(z+c_i)} \right).$$

Since $f(z)$ has infinitely many multi-order zero, there exists a sufficiently large point z_0 such that the multiplicity of the zero of $f(z)$ at z_0 is $k(\geq 2)$, and $p'(z_0) + p(z_0)q(z_0) \neq 0, p(z_0) \neq 0$.

If $\sum_{i=1}^k a_i f(z_0 + c_i) = 0$ with the multiplicity $k_1(\geq 1)$, then the multiplicity of $\frac{(f(z_0) \sum_{i=1}^k a_i f(z_0+c_i))'}{f(z_0) \sum_{i=1}^k a_i f(z_0+c_i)} = \infty$ is 1, the multiplicity of $\frac{3af(z_0)f'(z_0)}{\sum_{i=1}^k a_i f(z_0+c_i)} = \infty$ is $k_1 - 2k + 1$, the multiplicity of $\frac{af^2(z_0)}{\sum_{i=1}^k a_i f(z_0+c_i)} = \infty$ is $k_1 - 2k$, but the multiplicity of $\frac{b}{f(z_0) \sum_{i=1}^k a_i f(z_0+c_i)} = \infty$ is $k_1 + k$. By (5.3), we get a contradiction.

If $\sum_{i=1}^k a_i f(z_0 + c_i) \neq 0$, then the multiplicity of $\frac{(f(z_0) \sum_{i=1}^k a_i f(z_0+c_i))'}{f(z_0) \sum_{i=1}^k a_i f(z_0+c_i)} = \infty$ is 1, $\frac{3af(z_0)f'(z_0)}{\sum_{i=1}^k a_i f(z_0+c_i)} = 0$, $\frac{af^2(z_0)}{\sum_{i=1}^k a_i f(z_0+c_i)} = 0$, but the multiplicity of $\frac{b}{f(z_0) \sum_{i=1}^k a_i f(z_0+c_i)} = \infty$ is $k(\geq 2)$. By (5.3), we also get a contradiction. Hence $H(z)$ takes every value b infinitely often.

Acknowledgements. The authors thank Prof. Risto Korhonen for many valuable suggestions to the present paper. The authors are also grateful to the referee for providing many comments and suggestions for helping us to improve the paper. The work was supported by the NNSF of China (No. 10771121), the NSF of Shandong Province, China (No. Z2008A01), Shandong university graduate student independent innovation fund (yzc11024).

References

[1] W. Bergweiler and J. K. Langley, Zeros of differences of meromorphic functions, *Math. Proc.*

Cambridge Philos. Soc. **142** (2007), no. 1, 133–147.

[2] Z.-X. Chen, On value distribution of difference polynomials of meromorphic functions, *Abstr. Appl. Anal.* **2011**, Art. ID 239853.

[3] Z.-X. Chen, Value distribution of products of meromorphic functions and their differences, *Taiwanese J. Math.* **15** (2011), no. 4, 1411–1421.

[4] J. Clunie, On integral and meromorphic functions, *J. London Math. Soc.* **37** (1962), 17–27.

[5] Y.-M. Chiang and S.-J. Feng, On the Nevanlinna characteristic of $f(z + \eta)$ and difference equations in the complex plane, *Ramanujan J.* **16** (2008), no. 1, 105–129.

[6] Y.-M. Chiang and S.-J. Feng, On the growth of logarithmic differences, difference quotients and logarithmic derivatives of meromorphic functions, *Trans. Am. Math. Soc.* **361** (2009), no. 7, 3767–3791.

[7] R. G. Halburd and R. J. Korhonen, Difference analogue of the lemma on the logarithmic derivative with applications to difference equations, *J. Math. Anal. Appl.* **314** (2006), no. 2, 477–487.

[8] R. G. Halburd and R. J. Korhonen, Nevanlinna theory for the difference operator, *Ann. Acad. Sci. Fenn. Math.* **31** (2006), no. 2, 463–478.

[9] R. G. Halburd and R. J. Korhonen, Finite-order meromorphic solutions and the discrete Painlevé equations, *Proc. Lond. Math. Soc.* (3) **94** (2007), no. 2, 443–474.

[10] R. G. Halburd and R. J. Korhonen, Meromorphic solutions of difference equations, integrability and the discrete Painlevé equations, *J. Phys. A* **40** (2007), no. 6, R1–R38.

[11] W. K. Hayman, Picard values of meromorphic functions and their derivatives, *Ann. of Math.* (2) **70** (1959), 9–42.

[12] W. K. Hayman, *Meromorphic functions*, Oxford Mathematical Monographs, Clarendon Press, Oxford, 1964.

[13] K. Ishizaki and N. Yanagihara, Wiman-Valiron method for difference equations, *Nagoya Math. J.* **175** (2004), 75–102.

[14] I. Laine and C.-C. Yang, Clunie theorems for difference and q -difference polynomials, *J. Lond. Math. Soc.* (2) **76** (2007), no. 3, 556–566.

[15] K. Liu and I. Laine, A note on value distribution of difference polynomials, *Bull. Aust. Math. Soc.* **81** (2010), no. 3, 353–360.

[16] C.-C. Yang and H.-X. Yi, *Uniqueness theory of meromorphic functions*, Mathematics and its Applications, 557, Kluwer Acad. Publ., Dordrecht, 2003.